Engineering Questions by Topic

Ordinary Level
Question 7
45 Marks




1996 Question 7

(a) Name three principal classes of fit and give an example of each one.
{h) Define the term tolerance as used in a system of limits and fits.

{c) Holes and shafts of 80 mm nominal diameter are machined so as to give a precision location fit when
assembled. The following conditions are specified:

(i Minimum hole diameter 80.00 mm
{ii) Minunum shaft diameter 79971 mm
(iii) Minimum clearance 0,010 mm
(iv) Maximum clearance 0.059 mm

Determine the wolerance for the shafl and the hole
OR

=

The layout of a pneumatic system is shown. Identify the components labelled and siate the function of any five.
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1997 Question 7

(a) Name the alloy formed by:
(i) lead and tn;

(liy  copper and zinc.

(b}  Name twe precious metals.

(c) Describe how copper is annealed and give an example of its use.

(d)  In the production of copper, name the final product afier smelting the copper concentrates.
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1998 Question 7

(a) What is meant by a transition it in the ISO system of limits and fits?

{b) A shaft is made to the dimensions 80 + 0.05. State the following:

(i) Nominal dimension; (ii)  Upper Limit; (iii) Lower Limit; (iv)  Tolerance.

() Describe each of the cutting tools shown and give an example of thelr use:

IJ - |

i
i

2l
() (1) (iif)
OR

(c) Explain the following terms:

(i) Mottling; (i) Enamelling;  (iii}  Etching.
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1999 Question 7

(a)
(b)
(€}

Define the term inferference fif as used in a svstem of limits and fits,
Explain the essential difference between a plug gauge and a gap pauge.

Holes and shafts of 50mm nominal diameter are machined so as to give a precision location fit
when assembled. The following conditions are specified:

(i) Minimum hole diameter 50.00mm
(ii) Minimum shaft diameter 49.971mm
(iii) Mmimum clearance 0.010mm
{iv)  Maximum clearance (.059mm

Determine the tolerance for the shaft and the hole.
OR
Describe the operation and function of any one of the following:

(i) Dial gauge; (i) Double acting pneumatic cylinder; (iii)  Solenoid.
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2000 Question 7

(@) Name the type of fits used mn the hole basis E‘ir stem for a, b and c.

_/_,.r/
ﬁ

Shaft Hulef ;;h.n ’ ! Shagt
]
- /

(b) A shaft 15 to be made to the dimensions 50mm =+ 0.06, state:

[+

W
\\\

(i) The nominal dimension: (ii) The upper limit;  (iii) The tolerance.
(c) Explain the terms: (i) bilateral and (ii) umlateral tolerance.
OR

() Explain any two of the following terms:
(i) Transistor; (ii) Gap Gauge: (iii) Work hardening.
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2001 Question 7

{a) Explam (1) Interference fit; (1) Clearance fit and (1) Transition fit.

{b) A shaft 15 to be made 80 £ 0.05. Determine:
(1) The maximum diameter of the shaft;

(1) The mmnimum diameter of the shaft;
(1) The tolerance on the shaft.

(c) Explain, with the aid of sketches, the following thread terms: (1) Pitch; (1) Crest; (1) Root.
OR

Explam clearly the purpose of any three of the following:
(1) Diode: (u) Solar cell; (u1) Reamer; (iv) Centre dnll.
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2002 Question 7

{a) In relation to limits and fits, explain the following:
(i) Interference fit: (it} Clearance fit.
(b) A shaft is to be manufactored to a diameter of 80 + 0.05 mm. Determine:

(i) The maximum diameter of the shaft;
(it} The nunimum diameter of the shaft:
(idi) The tolerance cn the shaft.

{c) Name the three gauges shown and give an application for any one.
(i) (ii)

® o) E:

OR
{c) Explain the operation of any one of the followmg:

(i) Single acting pneumatic cvlinder;
(1) Transistor.
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2003 Question 7

(a) A shaft 13 made to the following dimensions 80mm + 0.05.

State the (i) Nomuinal Diameter;
(ii) Upper Limit;
(iii) Lower Limmt;
(iv)  Tolerance.

(h) Explain the following:

(i) Clearance fit;
(ii) Interference fit.
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2003 Question 7 cont.

(c) Name the gauges shown and explain thewr function 1n relation to linuts and fits.
OR
(c) Explain a function for the circuit shown and what purpose the transistor serves?
® gy

-
—:—@_.

ov
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2004 Question 7

(a)

(b)

(e)

(c)

Explain any two of the following:

(i) Interference fit: (ii) Clearance fit; (iii) Transition fit.

A hole 15 manufactured to the following dimensions 50 mm + 0.04. For this hole state:

(i) Nominal diameter; (ii) Upper Limit; {(iii) Lower Limit; {iv) Tolerance.

=N

Name the measunng mstrument shown and idenfify
the tvpe of measurement taken at A and B.

OR

Explain a function for the circuit shown and name

any two of the components A, B and C.

-
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2005 Question 7

(a) A steel shaft iz manufactured to the dimensions shown. @20 T004
State the (i) Mominal diameter of the shaft;
(ii) Maximum diameter of the shaft:
{(idi) Minimum dhameter of the shaft:

(iv) Tolerance on the shaft.

(h) Using sketches, explain the difference between an interference fit and clearance fit of
a hole and shaft assembly.

(c) Describe any three of the following:
(i) Plug gauge. (ii) Vernier height gauge,  (iii) Gap gauge,  (iv) Feeler gauge.
OR

() Name the components A and B and explain the operation of the circuit when switch C is clozed.

gl
i
=1
=4
==

Copyright © PracticalStudent.com



2006 Question 7

{a) Name any two types of fif m the assembly of a shaft and hole.

{(b) A hole is produced 1n a steel plate to the dimensions shown.

State the {iy Nomunal diameter of the hole;

(i) Maximum diameter of the hole;
(iii) Minimum diameter of the hole;

(ivy Tolerance of the hole. /

(c) Name the measuring mstrument shown and dentfy any rwo
of the parts indicated.
._i‘
OR o
{c) Identify any three of the electronic svmbols shown:

W — [
({ii)

(1) (i)

(iv)

Copyright © PracticalStudent.com



2007 Question 7

(a)  Inrelation to limits and fits, explain anyv two of the following:

(1) Interference fit, (1i) Clearance fit, (iii) Tolerance.

(b) A hole and shaft are produced to the dimensions shown.

State the: (i) nominal diameter of the hole;

|
8
E

3210.06
(ii)  nominal diameter of the shaft; _+_

(iii)  lower limit of the hole;

Y |

r

(iv)  higher limit of the shaft.

(c) Name and give an application for any two of the ganges shown below:
(i) a [ a (iii)

=¥ =1 (Cl
L8 g

OR

o
(c) MName any three of the electrical symbols shown: @j i R _(")_
(i) (ii) (iii) (iv)
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2008 Question 7

20 +0.08
{a) State any two ways of gaccuraraly measurmg the diameter of a shaft. |

(h) A hole and shaft are produced to the dimensions shown.

State the: (i)  Nonunal diameter of the hole;
(ii)  Largest diameter of the shafi; W
(ifi) Smallest diameter of the hole; 20005
{iv) The type of fit which will result from the assembly
of the largest shaft and smallest hole.

{c)  Name and give one application for any three of the instruments shown.

, o
i %l‘g\\ ]
S ,_ NP
OR ‘

{c) Name any three of the electronic symbols A ‘
labelled A B, C and D in the circuif diagram. = R D
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2009 Question 7

(a) Describe, using sketches, any two of the following tvpes of fit for a shaft and hole assembly:

(i) Clearance fif. (i1} Transition fit, (1ii) Interference fit.

(b) A brass shaft 1s machined to the dimensions shown.

24 *0.08
l_

State the: (i) nomunal diameter of the shaft;
(ii) maximum diameter of the shaft;
(iii) minimum diameter of the shaft;
(iv) tolerance on the shaft

(¢}  Name and give one application for any three of the instruments shown:

OR T
(c) Identfy any three of the electronic symbols B
shown 1n the ciremt diagram. A @ e |
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2010 Question 7

{a) State two advantages of a digital readout on measuring instruments.

(b) A hole 15 produced 1n an aluminium plate to the dimensions shown: 240 1 0.07

State the: (i) Nominal diameter of the hole;

] =
(i)  Maximum diameter of the hole; ; E S\: \\\\\
(1i1)

Minimum diameter of the hole:

(iv) Tolerance of the hole.
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2010 Question 7 cont.

(c) Name and give one application for any three of the tools shown.

T
e s

(i) (i) {;-}

OR A

(c) Identify any three of the electronic components
A B. C and D shown in the circuit.
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2011 Question 7

(a)  Name and describe the types of fit shown at A and B.

A

fg B O
Shaft /Pﬂhil

7,

th

i vy

(b)  With reference to Figure 1 shown opposite, state the:

(i) Nonmunal diameter of the hole;
(ii) Smallest diameter of the hole;
(iii) Largest diameter of the shaft;

(iv) The type of fit which will result from
the assembly of the smallest hole and
the largest shaft.
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2011 Question 7 cont.

(c)  Name and give one application for any three of the mstruments shown below.

—~{| [}
1 A e
& | < A
@ (i) (i) (iv)

OR
(¢)  Draw the circutt symbols for any three of the following electronic components:

(i) LED, (ii) Fixed resistor. (iii) Motor. (iv) Transistor.

"
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2012 Question 7

(a)  Describe any two of the following terms in relation to linuts and fits:
(i) Tolerance;
(ii) Interference fit;
(iif) Upper limit.

50+ 0.08

(b) A hole and shaft are manufactured to the dimensions shown.

State the: (i) Nomunal diameter of the hole;

(ii) Smallest diameter of the hole;
(iii) Largest diameter of the shaft;

(iv) The type of fit which will result from | 51+ 0.19 |
the assembly of the smallest hole and
the largest shaft.
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2012 Question 7 cont.

(¢)  Name and give one application for any three of the instruments shown.

(1) (ii) (iii) (iv)

OR

(¢)  Draw the circuat symbols for any three of the following electronic components:

{i) Bulb. (i) Battery, (iii) Switch, (iv) Varable resistor.

] i

Copyright © PracticalStudent.com



2013 Question 7

(a)  Name and describe any two tyvpes of fit possible when assembling a shaft and hole.

() A shaft 1s manufactured from steel to the dimensions shown.
State the: (i) Nomunal diameter of the shaft; 9 30 +0.06
(ii) Smallest diameter of the shaft; r
(iii) Largest diameter of the shaft;
(iv) Tolerance of the shaft.
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2013 Question 7 cont.

(c)  Name any three of the instruments shown and give one application for each instrument named.

(@ (i) (iii) (iv)

OR

(¢)  Name any three of the components shown below and state a sutable use for
each component named.

L=

o

S
S~

B
I

(i) (i) (i) (iv)
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